Part 1/ T I
Mathematics / TifoTg

If a variable plane passes through a fixed
point (1, —2, 3) and meets the coordinate
axes at points A, B, C, then the point of
intersection of the planes through A, B, C
parallel to the coordinate planes lies on :

S B
(1) xy-zyz 3zx—-

(2)
(3)

yz—2zx+3xy=xyz

xy—2yz+3zx=3xyz

1 1
4) =xy+ Syz- gzx=6

The rate of change of the volume of a
sphere with respect to its surface area,
when the radius is 2 units, is :

(1) 4
2) 3
G 2

@ 1

If p is any logical statement, then :
(1)
(2)

pA(~p) is a tautology
pv(~p) is a contradiction
PAP=P

pv{~p) =

A

(AL
L

gfe tH  Hae uE fer f§g 1, -2,3) @
B S € Fen Flvna svell =1 fageti A, B,
C W &= §, @A, B, CH g 91 a1,
frdwie a1l & wwioR gHae &1 wfaseen
fag, e M fem e, 72 d:

1 1
xy-—-Eyz+ 52x=6

@
(2)

®3)

yz—2z2x+3xy=xyz

xy —2yz +3zx =3xyz

1 1
4y xy+ Y- gzx=6
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2)
(3)
(4)

pApP=pP

pv(~p)=p
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Consider

L,: 3x+y+a—2=0 ;
L,:3x+y—a+3=0, where a is a positive

real number, and
C:x2+y2—2x+4y—4=0.

Statement 1 : If line L, is a chord of the
circle C, then the line L, is not always a
diameter of the circle C.

Statement 2 : If line L, is a diameter of the
circle C, then the line L, is nota chord of
the circle C.

Then,

(1) both the statements are true.

(2) both the statements are false.

(3) Statement - 1 is true and
statement - 2 is false.

(4) Statement - 2 is true and
Statement - 1 is false.

If the system of linear equations,
x+2ay+az=0, x+3by+bz=0 and
x+4cy +cz=0 has a non - zero solution,
then a, b, ¢ satisfy :

(1) 2b=a+c
(2) b?=ac
(3) 2ac=ab+bc

(4) 2ab=ac+bc

27 e e forem T

L,:3x+y+a—-2=0;
L2:3x+y—a+3=0% TF o ThH YATH
qreifas® G 2, 9l

C: x2+y?—2x+4y—4=0.

HAT1 AL, T CH TH S ¢, AL, T
1 C 1 =™ T 8

HEA2: ARL, FECH A E, ML, W C

w1 e & B

1) B FH T

(2) S FUA TTA T

(3) F - 1TE T, U - 2 I R
(4) FEA - 2T B, FHET - 1 A T
ofy Yfgw witew e
x+2ay+az=0, x+3by+bz=0 T

x+4cy+cz=0 HI T ?Ea?l'( T g,
a,b,cH'TjEERﬁ%:

(1) 2b=a+c

(2 b2=ac

(3) 2ac=ab+bc

(4) 2ab=ac+bc
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Let S be the set of all real matrices,

A= [: s]such that a+d=2 and
AT=A2_2A ThenS:

(1) is an empty set.

(2) has exactly one element.

{(3) has exactly two elements.

(4) has exactly four elements.

If z=i (i+ \/E), then the value of y

2 442346224 47 is
(1) -5

@ 3

(3) 6

4 -9

Suppose a population A has 100
observations 101, 102, ..., 200 and another
population B has 100 observations 151,
152, ..., 250. If V, and Vj represent the
variances of two populations respectively,
then the ratio V, : Vyis:

S Bl ardfaE sTegEl W a2

a bl
A=L dJ T8 g % a+d=2 @u
AT=A2 2702 @ 5

(1) v ag=me)

2) H ¥ TH T T

(3) H %aa T I ¥

@) ¥ F9d =W sEga £

g 7= (1'+ \/E)%, a4+ 423 16224 42
FIHAAE :

(1) =5
(2} 3
3) 6
4 -9

afe ww wufie A 7 100 Gam
101, 102, ..., 200 § do g wufe B & 100
& 151, 152, .., 250 ¥1 ARV, 741 v
FUW: O gAfeE F wewl w5 gmia € Q)
STUE V, : Vg ® :

@ 1:1 1 1:1
2 2:3 (2) 2:3
3) 1:2 () 1:2
@ 3:2 4) 3:2
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13 15 7 13
+ 5 + 5x
z 9 j ™ u 5 dx equals: J j g dx T ®
i (x7+x2+1) x+x+1
|
14 14
! (1) o+ C (1) X +C
r (x"+ 2+ 1) (x + 2%+ 1)
;
! 14 14
(2) x -+ C @) a ;+C
2(x7-+~ X%+ 1) 2( 74 x24 1)
7 7
(3) ad 5+ C @) — -+ C
( 7 2 2
x+x+1) (x+x+1)
¥
3 7 7
; 4 — -+ C (4) X -+ C
* 2(x" + X7+ 1) 2(x"+ x*+ 1)
| A’/
i 10. 1f for some real number a, U fz gl amafas W&l a &% fau
lim SN2+ 280 E eyists, then the limit L SR2ZXFASINY o afge €, @ 4@
s x—-0 X x—0 x*
’ is equal to : i e R
f
j
1 -2 M -2
*f
! 2y -1 2 -1
@ 1 @) 1
k]
4 2 @ 2
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11. Let A and B be two events such that | 11. WAHWBWQW?WP(AUB)Z3/4

P(AUB)=3/4 and 1/8 < P(AnB)=< 3/8. ¥ 1/8 < P(AnB)< 3/8 21

Statement 1 : P(A)+P(B)= 7/8 FAT1: PA)+PB)= 7/8

Statement 2 : P(A)+P(B)< 11/8 ®9T2:  P(A)+PB)< 11/8

(1) Statement - 1 is true ; Statement - 2 (1) %91 - 193 8 ; %97 2 52y &,
is true; Statement - 2 is a correct RYT - 2FYF ~ 1 FH 'Hﬂ qReq] %I
explanation for Statement - 1.

(2) Statement - 1 is true ; Statement - 2 2) M - 193¢, FH -299 ¥
is true; Statement - 2 is nof a correct FAT - 2, FUT - 1 ® WE =@y bl
explanation for Statement - 1. g

(3) Statement - 1 is true ; Statement - 2 (3) FU -199 R, %97 - 2 g™ 4
is false.

(4) Statement - 1 s false ; Statement - 2 (4) =9 -1399 8 YT - 29 t{
is true.

- A A A — A A — A A Al -3 A A
12. Let v=2i+j-kand w=1 + 3k. 12, HAT v =20 + j -k M w =i + 3k
If Wisa unit vector, then the maximam oAk UF W gfew & 9 sifew fas
value of the scalar triple product NN |
o m[uvama‘r‘wm%:
uv wjis:

1) Ve M Ve

2 Ji0 + V6 (2) V10 + V6

3 59 3) V59

4)  Jeo 4 Jeo
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13.

14.

15.

Statement 1 : The line 2x+y+6=01s
perpendicular to the line x— 2y +5=0 and
second line passes through (1, 3)-
Statement 2 : Product of the slopes of any
two parallel lines is equal to —1.

(1) Statement - 1 is true ; Statement - 2
is true; Gtatement - 2 is @ correct
explanation for Statement - 1.

(2) Statement - 1 is true ; Statement - 2
is true; Statement - 2 is not a correct
explanation for Statement - 1.

(3) Statement - 1 is true ; Statement - 2
is false.

(4) Statement - 1 is false ; Statement - 2

is true.

3
2 cot~1(7)+cos ! (g ), in principal value,

J
s
(3) tan‘l[ﬁ]

117
1| —
(4) cosec [125]

Let f and g be functions defined by

is equal to :

—
[i=
o
m.""

(1) cos—1(

=

B
= 3

1
flx)= Pl veR, x#—1, and

g(x)= 241, xeR. Then gof is
(1) one-one but not onto.
(2) onto but not one - one.
(3) both one - one and onto.

(4) neither one - one nor onto.

13. w1 @ 2x +y+6=0T x—2y+5=0

14.

15.

maﬁaﬁ%am@ﬁ‘f@(m)@'@tmm

%)

aﬁmzzam%@aﬁaﬁmﬁmw

~1%1

1) Fod - 199 T .y - 29 T,
$W—2,$ﬂﬂ—1ﬂ-ﬁﬂﬁﬂl@i%l

2) mm—1w%;$mﬂ2w%;
aﬁm—z,mmﬂlaﬁaﬁw@mﬁ
1

(3) mmﬂw%,am-zm%u

() EF%—lW%,EW—ZW%l

2
(2) cos 1
» 41 ]
(3) tan” | 717

117
1] ==
(4) cosec [ 125]

o f A g, fx) =

—1 99
x+1,xeR,x¢ 1

g(x)=22+1, xeR G wfteqfi wed € A

gof -

(1) qﬁ%ﬁ%ﬂmﬁqﬁ%s
@) ST & T A T T
?3) Qaﬁﬁﬁmmﬁ%l

(4) T{?ﬁﬁﬁ%aﬂtﬂﬁaﬁ@ﬁ%i

L/Page 7

SPACE FOR ROUGH WORK / T® = & fae S



16.  The coefficient of t2 i 16, (1+)12 (14413 1+t % TR § (24 =5
(1+12)12 (14112 (1+t%4) js . EX
(1) ¢, +13 (1) 12c6+ 13
2) ¢, +2 2) ¢ +2
B) C +1 3) 2C +1
(4) 12C6 (4) ]l2c6
17.  The general solution of the differential | 17. AT HHIHTU
equation .
1 ﬂ+sin(x+y)=sin(x y} E
dy = | (x+y) , (x—y} dx 2 2
— + sin = S8in is :
dx 2 O 7 &
y | V4 26inx = ¢
(1) log tanE + 2sinx = (1) log tan2 + 2sinx
(2) log tan? + 25111—- = (2) log tan /. +2sin= = C
4 4
(3) log (cotz] +2sinx = (3) log (cot%) +2sinx = C
(4) log (cot%} + 25m~ = 4) log (cot%} +2sin>- = C
18. If the quadratic equation 18. 3fe fgoma wete
3x2+2(a2+1)x+(a2——3a+2)=0 3x2+2(a2+1)x+(a2—3a+2)=0
possesses roots of opposite signs, then a & T farda forsf & €, T a form s A
lies in the interva] : TwE !
A} (-=,-1) 1) (=,~1)
@ (-1 (2 (-1,
() @2 (3) @2
@ (@23 4) (2 3)
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19.

20.

21.

If f (x)=x | x |, then for any real numbers
a and b with a<b, the value of

b
j f(x)dx equals :

@ 5(oP-Ilaf)

(2) —|b3—a

@ 5%

If m is the slope of a tangent to the curve
e¥=1+x2, at the point (x, y) on the curve,
then all possible values of m lie in the

interval :

1y 10,1]

2 @ =

() (—e -1
@ [-11

A common tangent to x?—-2y?=18 and
x2+y2=9 is :

(1) y=2x+35
(2) y=2x+33
(3) y=2x+37

@) y=2x+35

19.

20.

21.

qlE £ (x) = x | x| 2, A S&afaes gt a qqb

b
¥ fow, Sfa<b ®, [ f(x)dx TTRE :

M ={(bP-1aP)

G| =

1
@ I’ -a’

3) (a3 + b3]

SR

(@)

Wi

(4)

afe aF V=142, F 63 (x, y) R &
WY W & o m ¥, 9 m ¥ gt 9ya 9=
R AT Ao ® ag® .

1) [0 1]

) @ =)

3) (== -1
4 [-1,1]

x2-2y2=18 T 22 +12 =9 Bl T ]IS
po R | I

1) y=2x+35
) y=v2x+3.3
(3} y=2x+37

(4) y=+2x+35
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22,

23.

24,

From a window x meter high above the
ground, in a street, the angles of elevation
and depression of the top and the foot of
another house exactly opposite to the
window in the same street are o and B
respectively. Then the height (in meters)
of the house on the opposite side is :

(1) x(1+tana cotp)

(2)  x(1+tana cosp)

(3)  x(1+cota tanB)

(4)  x(1+cota cosp)

Let f be a differentiable function such that

8f(x)+6f(i)——x=5, (x20) and

d
y=2x2 f(x), then d_z at x=—-11s:

15

14

15
14

A tree, in each year, grows 5 cm less than
it grew in the previous year. If it grew
half a metre in the first year, then the
height of the tree (in metres), when it ceases

to grow, is :
(1) 3.00
2y 2.75
(3) 2.50
(4) 2.00

22,

23.

24

T Tt H, g | 1 W w1 S W g s
faga! 9 35 el F " F 3IR feyd 9ad
F firg 91 Ui & IH qY HEHA H
FHI o TMPB L O WEA AT AT Y FE
(vl #)

(1) x(1+tana cotp)
(2)  x(1+tana cosp)
(3) x(1+cota tanp)
(4) x(1+cota cosp)

AT f UH U™ AgFAAT waq g, 5

8f(x)+6f(%]-—x=5, (x20) & T

}I=x2f(x)%,?ﬁx=—1m%ww%:
15
M 14
15
2 -1
1
® "7
1
@4 1

T Ug yfaad, free od %1 smden 5 9.1 #9
TR Ie T TR T8 H1/2 W, WA ®, A
WS T 9T A% HT L A IS B 9 (Hd
7).

(1) 3.00
2) 275
(3) 2.50
4) 2.00

L/Page 10
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25. Statement 1 : If three positive numbers in | 25. AT 1: Ifg TUIHE 471 HI A TS
G.P. represent the sides of a triangle, then gt we Ay &1 el w1 frefem
the common ratio of the G.P. must lie Fod &, @ O 4 FT WA ALIA

- + 5 — 5 +1 4
between V5 -1 and V5 1. 5 -1 ?T?TTI ¥ == feem 71
2 2 2 2

Statement 2 : Three positive numbers can wAT2 . AfE 9 RS gemed § 6

form sides of a triangle if sum of any two awiﬁﬂmﬁa@@,?ﬁqﬁ#@ﬁﬁ

numbers is greater than the third number. £33 F1 wyenet # Frefoa #X T €

(1) Statement - 1 is true ; Statement - 2 (1) & - 199 ¢ ; F94 2 94 8,
is true; Statement - 2 is a correct FYF - 2, FUF - | Bl W& AT 21
explanation for Statement - 1.

(2) Statement - 1 is true ; Statement - 2 (2) wHUT - 1§ Ew 299 B
is true; Statement - 2 is not a correct HYF -2, FYT1 T TE I A i
explanation for Statement - 1.

(3) Statement - 1 is true ; Statement - 2 (3) HYT-19A ?, YA - 2 A 7
is false.

(4) Statement - 1 is false ; Statement - 2 4) wYT -1 2w - 2T B
is true.

. J- tn7 x cosxdx J-‘/ﬁ x cosx>dx

26. Theintegral TS cos(In35 — x2)+ cosx? 26. HHIHEA s cos(In35 — xz) + cosx?

is equal to : T
1 5 1 5
—In = 2 In32

@ 777 O 7m7
1 5 1 5
2in 2 Zin=>

2 ;5 @ ;mn7
1 7 1 7
= In = ~lni
1 7 1 7
~Ini i

@ g @ 275
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27. The least positive integral value of x which

28.

29,

30.

satisfies the inequality 10C__, > 2x10C_

CI8 T

1)
(2)
(3)
@)

(= A NN s B = IS ]

The angle between the lines 2v=3y= —z
and —6x=y=4zis :

(1) 30°

(2 45°

(3) 90°

4 o

If a variable line, passing through the point
of intersection of the lines x+2y—1=0
and 2x—y~1=0, meets the coordinate
axes in A and B, then the locus of the
mid-point of AB is :

(1) x+3y=0

(2) x+3y=10

(3) x+3y=10 xy

4) x+3y+10xy=0

Let y?=16x be a given parabola and L be
an extremity of its latus rectum in the first
quadrant. If a chord is drawn through L
with slope —1, then the length of this
chord is :

1) 32

@  16v2
(3} 163
(4) 32

27.

28.

29.

30.

x 1 TE TAH GIF YUk W[,
s 0C | > 2% 0C_ =) dqe @ 2,
2

M 5
(2) 8
G 9
4) 6

@i 2r=3y= -z M —6x=y=42 & WY
ETFEF?I'“T% :

(1) 30°

(2) 45°

(3) 9

4 o0

afg T = Y@, Wi x+2y—1=0 990
2 —y-1=0% Y=g fag 4 & s ot 3
aun FdeisE el ®1 A 991 B W Fedt § A
AB % 7e-fig #1 faquy 2 -

(1) x+3y=0

(2) x+3y=10

(3) x+3y=10xy
4) x+3y+10xy=0

A 2 =16x T T T e & qun L

39 eld &1 9w wqate ¥ & SR P
7fg L @ 8o 9 |t e e ) frge! e
—1%, a‘rsnﬁﬁmﬁa'mﬁ%:

1) 32

2) 16v2

(3} 1643

(4) 3242

L/Page 12
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Part IT / {11
Aptitude Test / afireta adteor

Directions : (For Q. 31 and 32).  The problem figure shows the top view of an object. ldentify the
correct front view, from amongst the answer figures.

AT : (T 31 932 & FIT)1 wvT FH A o} o @1 S g It T € I MFtad 7

4 3997 g8l Tg@ gv B!
Problem Figure / ¥ 3W$Td Answer Figures | 3¢ SWFAT
RN |
O S =3 N (Y s T 1
1) @ ) (4)

DEE

52,

%lﬂrﬁél _lm lﬂﬁA
@ @

1
(D 3

Directions : (For Q. 33 and 34). The 3 - D problem figure shows an object. ldentify, its correct i.p
view, from amongst the answer figures.

Frder: (W33 3ift34 & RIT)1 3 - D W97 aiFla 4 uF a%g &) fa@rd T &1 56 Hel T 5

I pladt 4 4 e
Problem Figure [ H¥T SFld Answer Figures [/ W Sﬂ}'ﬁlﬂ?
\// | ]
3.
E L\ ‘j Llf\ N
L] L L] L]
1) (2) 3) @)
.|
34. 0
- 0 O] O
{1
(1) (2) @) 4)
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Directions : (For Q. 35 to 39).

Fder: (w35 @39 % form )

Problem Figure / F%1 3msfa

35

36

37

38

39

&
i
2
&
g

(1)

(1)

(1)

(1)

(1)

Find out the total number of surfaces of the object given below, in the
problem figure.

T¥7 SPIT ¥ Frenfed awg % adel 1 $o1 T 717 Fr)

19 (2) 18 @) 20 @) 22
16 2) 15 @ 17 (4) 18
14 2 15 (3) 13 4) 12
15 2 14 @) 12 4) 13
20 2 18 @) 16 @ 17
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Directions : (For Q. 40 to 42).  Find the odd figure out in the problem figures given below :
AT (TR FRM) TR T T A A G fawg 3l o |

VA 3) 4)

41. D_ j ‘D K3
(1 (2) 3 4)

(1) (2) 3) @)

Directions : (For Q. 43 and 44).  One of the answer figures given below is hidden in the problem figure,
in the same size and direction. Select, which one is correct.

Frdor : (7 43 3iT44 & @)1 92 2 7 I syHhE & @ T gl A1y Sk e ¥ wHrT 9§
797 ol 4 fodt &1 vt a8 & g

Problem Figure / %7 STTFId Answer Figures / 3 srwiaar
h )
A, J
(1) (2) @) @

(1) (2) @) (4)




Directions : (For Q. 45 to 48). Which one of the answer figures is the correct mirror image of the
problem figure with respect to X - X ?

faer: (R 45 Q48 F F1@) 1 3 ampladl § @ F7at omgfy & 78 ¥o7 SvHhT X - X T 7

q9T gt & 7
Problem Figure / T 37Hld Answer Figures | 30 STHIaar
X
45.
X ey @) @3) )
X
A6,
X ey 2) 3) (4)
X
'
. —~
X (1) (2) 3) (4)
/48.
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Directions : (For Q. 49 to 52).

frdor: (T 49 §52 & for@)i

Problem Figures / ¥ 347?7%’?#'

three problem figures ?

ST (sequence) T & TG 2

Answer Figures / I gt

Which one of the answer figures, will complete the sequence of the

3w o 7 4, Fheht sl F @7 9T STFh # o 4

1) (2)

h Ay 2 B

_|ejol o« l |v|e v|e e o|e ??i
48’ @|a . @J ale [’.5—] o|e ® | @ > | O v .J
(1) (2) (3) (4)
ool ‘7. o ‘:o * Ko -:o * e, '.n .. ‘oo_:—]
. .:' ':.o.. .-. * | ? % . '..l'o.l » ’: .. * ’:
(1) 2) (3) (4)
: = J 4
(1) (2) (3) (4)

4

L/Page 17
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Directions : (For Q. 53 to 55). Which one of the answer figures shows the correct view of the 3 - D
problem figure, after the figure is opened up ?

FEor:(as3@ss & fm) 3-p T Sl B e T, IR g 7 8, 7 gvq Fer 7
Problem Figure / . Answer Figures | TR BWW

T Sty

I
[
I

11
[ 11
T
[ T 11

M 2 3) (4)

==
i

|

—
—d
g
——
)
9% ]
g
—
Hea
S

<7 UFAF F A

(

=N E NN,
L IT]
LI

N LT
—
—
[S3]
—

)
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Directions : (For Q. 56).  How many total number of rectangles are there in the problem figure given
below ?

Ao (T.56 % Frg)1 919 3 7E ww ol ° sl # g qe faad 82

Problem Figure / ¥¥7 3t

1 17 2 18 3) 19 (4) 20

Directions : (For Q. 57 and 58). How many total number of triangles are there, in the problem figures
given below ?

ﬁz?yr:(mw sitrss & Raw)1 72 < 7 v Pt B (sl F FoT W fahdl €7

Problem Figure | ¥%9 30pld

57

1 20 @) 18 @) 17 4) 19

1) 16 @) 17 (3) 18 @) 20
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Directions : (For Q. 59 to 65). The 3-D problem figure shows an object. Identify, the correct view,

from amongst the answer figures, looking in the direction of the arrow.

FEor: (w59 @65 & ferg)1 3D ¥ SFHT A T TG F ey &1 dv # e 7 2w gy

Problem Figure / 99 3%t

59.

- 61,

3% TET 579 F IW NFlE F § vewtmy

Answer Figures | IR 3gHlaai

(1) ) 3) )

L ] ] ]

(1) (2) 3) )
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Problem Figure /| H37 gt Answer Figures / 3T JWW

@ I e e

) @) (3) )
— ] — N

6?; /
AN (1) 2) (3) @)

_%a. — E l% L | L L
-
/ ) @ ) @)
1 e []
%5 5 = = ]
L |
y ® @) @) @
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66. Which one of the following is an | 66. fr=fafas 44 o T IR & ?
Architect ?
(1) Amrita Sher-Gill (1) 3 sR-fie
(2) M.F. Hussain (2) TLUE A
(3)  Christopher Benninger (3) frweErm affTs
(4) Salman Rushdie (4) HeHE wWET
67. Qutab Minar is largely cladded with : 67. FI R W fFw aafuhay o =g W d2
(1) Granite (1) T #
(2) Red sand stone (2) O 9GS0 TR |
(3) Marble (3) TTHER A
(4) Brick (4) ¥ 9
68. Which one is not a sound absorbing | 68. FH ygef eafy sEviHE TH 27
material ?
(1)  Jute bags (1) ve&d |/
(2) Thermocol (2) uHEmE
(3) Glass wool (3) FTd FI T
(4)  Ground glass 4) ==
69. Toint out the incorrect combination : 69. 315 G HI T
(1) Pagoda and Burma (1) rer ofw =
(2) Vat and Combodia 2) e o F=ite :
(3)  Eiffel Tower and Congo (3) EEA R AR Fi
(4) Agora and Greece (4) ST AR Tty
70.  Natural shadowless light is available from | 70. @ o, fam B 17 WrRfeR weahTe fre faem
which direction in India ? 3 3T &2
(1)  South (1) sk
(2) North-West (2) Io-ufv=s 4§
(3) East (3 I
(4) North 4 IWH
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71.

72.

73.

74.

75.

In which place in India can we find cave
temples of three faiths ?

(1) Madurai

(2) Delhi
(3) Ellora
(4) Agra

Which one of the following is a horizontal
member in a building that carries load ?

(1) Arch

(2) Column
(3) Vault
(4) Beam

Horizontal sun shades are required to
protect windows on which facades of a
building ?

(1) South
(2) East
(3) West
(4) North

The summer sun in Northern Hemisphere

rises from :

(1) North

(2) South East
(3) North East
(4) East

Which one of the following consumes least
amount of electricity ?

(1) Tungsten Bulb

(2) Compact Fluorescent Lamp (CFL)
(3) Fluorescent Tube

(4) Light Emitting Diodes (LED)

o

75.

ara H fa <oe W EH i g o T AR
foera %2

(1) wgE

(2) fTeeeltd

3) wEaH

(4) FFH

frteiEd § § ST AR # At

GTERAE T S FF YR e % 82
(1) wEwE (3T)

(2) W4 (HeH)

(3) HEUS! T (Fe)

(4) =™
%ﬁﬁ,m%maﬂt%aﬁﬁmaﬁ
faefr & gd #1 fFm § 9= €7

(1) &

2) 9

(3) dfe=w

(4y W

e E, 3o e ®, g9 e & e 82

(1) IWH
2) sfemEd
(3) SWYEH
4 TH

frefafae § @ s, fo9oc S @aq &
Y HY H@ &7

(1) Z7A ded ) L
(2) Ted (Compact) Wfirdifa 9 (CFL)
(3) e it

(4) TR IWSF SAE (LED)
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76.

77.

78.

79.

80.

Palace of winds (Hawa Mabhal) is located
in:

(I} Madhya Pradesh

(2) Rajasthan

(3) Jammu and Kashmir

(4) Andhra Pradesh

Which one of the following cities in India
lie in Cold and Dry region ?

(1) Simla

(2) Darjeeling

(3) Leh

(4) Gangtok

Which type of roof will keep the room_

cooler ?

(1} Concrete slab with cement plaster

(2) Concrete slab with mud and brick
tiles '

(3) Concrete slab with mud, brick tiles
and covered with potted plants

(4)  Asbestos sheet roofing

Which city is based on sector planning ?
(1) Patna

(2) Chandigarh

(3) Kolkata

(4) Pune

Name the city where canals are used as
transportation channels :

(1) Canberra

(2) Manhattan

(3) Venice

(4) Tokyo

-00o0-

76¢ T e Fa feer 12

- 77.

78.

79.

- 80,

(1) "= wewy

(2) USTEHH

(3) W IR FFERH
4) 39 wew

i %, Frefafea vl § 4, s 22 ok
Wsﬁﬁﬁm%:

(1) fomen

2) wfsifean

(3) w%

@) T

fog & 3t B9 FH F I @M ?

(1) i #1 o4, WY TR F @y

(2) hehe F B, M AN & F e A
T T

(3) i H B, M, T F A ok
T % He | T g8

(4) TSR AR S B

FITHT e HRX i’ W areiig &7
(1) we

) <

(3) e

@

S0 VB 1 W F4E, el Ted, A F w9
" ygm § st €2

(1) FFe

) W=

(3) afw

@) AfFn

-00o0-
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Space For Rough Work /7% &1 & fou swe
Cos26= t + cos'@

— 4 .
2 C t (‘) *\'COSF\;(__-g, l4cos2 & -2 cos O
-0 ' < ,
\' CD‘;Z &6 — 2 COSQ—V{’

oA co52 6=
9 sim R o
\m . 0’2 é',’ﬂ,s - o | )('t_
o f’/ SLarn 2 Ko~
l%_ul — Q[X \/:L /’ -‘_’_,é_ij;—
n st = ! A
| .

Jso Uso LA
~ . T L
-2 . P o X "\lrg’ T
Jso e a - e L
lu (»Tc Y (yf_o /S o
\)’Ejo W;f \,rs’_o
- y o~ o i
Sim x AU 4 SIm (L) (4
= L
e \ ViYXYo

- - - r__'_"—__ﬁ )
A SIWRZX \[‘"_fjl + Y "”‘Lﬁig__ vy 6

!
o M m4 M 1 — 196
y T a Q- Q C
; 2y~ 2x -y - - O S v S ";
74+ Y Jr)( 3 Tx ot fv{zbd b
o T - -

/D?a 16‘\ bxo+bx}jdxc+dxd
2 J
[:Olfob Cl')rQCJ

2bh "7
pleab  oied
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S 1M+ AS | N
—
>

J1m.
X O

Ly, &Simxcosxt 3> NI
4
X330 »
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\ nx (2005
Lo 2!
3
X > 0 x
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E H=30 | X’L
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x K
i _ 4 Y
\ / /.
A
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P
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Read the following instructions carefully:

Frefarfiaa ey sam e ug :

1. Part] has 30 objective type questions of Mathematics
consisting of FOUR (4) marks each for each correct
response, Part IT {Aptitude Test) has 50 objective type
questions consisting of FOUR (4) marks for each
correct response. Part III consists of 2 questions
carrying 70 marks which are to be attempted on a
separate Drawing Sheet which is also placed inside
this Test Booklet. Marks allotted to each question are
written against each question, For each incorrect
response in Part [ and Part I, one-fourth (*4) of the
total marks allotted to the question would be deducted
from the total score. No deduction from the total score,
however, will be made if no response is indicated for an
item in the Answer Sheet.

2. Handle the Test Booklet, Answer Sheet and Drawing
Sheet with care, as under no circumstances (except for
discrepancy in Test Booklet Code and Answer Sheet
Code}, another set will be provided.

3. The candidates are not allowed to do any rough work
or writing work on the Answer Sheet. All calculations/
writing work are to be done on the space provided for
this purpose in the Test Booklet itself, marked “Space
for Rough Work'. This space is given at the bottom of
each page and in 3 pages (pages 25 - 27)at the end of the
booklet.

4. Each candidate must show on demand his/her Admit
Card to the Invigilator.

5. No candidate, without special permission of the
Superintendent or Invigilator, should leave his/her
seat.

6. On completion of the test, the candidates should not
leave the examination hall without handing over their
Answer Sheet of Mathematics and Aptitude Test-Part 1
& 11 and Drawing Sheet of Aptitude Test-Part I1I to the
Invigilator on duty and sign the Attendance Sheet at
the time of handing over the same. Cases where a
candidate has not signed the Attendance Sheet the
second time will be deemed not have handed over
these documents and dealt with as an unfair means
case. The candidates are also required to put their left
hand THUMB impression in the space provided in the
Attendance Sheet. However, the candidates are
allowed to take away with them the Test Booklet of
Mathematics and Aptitude Test - Part 1 & IL.

7. Use of Electronic/Manual Calculator or drawing
instruments (such as scale, compass etc.) is not allowed.

¢. The candidates are governed by all Rules and
Regulations of the JAB/Board with regard to their
conduct in the Examination Hall. All cases of unfair
means will be dealt with as per Rules and Regulations
of the JAB/Board.

9. No part of the Test Booklet, Answer Sheet and Drawing

Sheet shall be detached/folded or defaced under any

circumstances.

10. The candidates will write the Test Booklet Number as
given in the Test Booklet, Answer Sheet and Drawing
Sheet in the Attendance Sheet also.

11. Candidates are not allowed to carry any textual
material, printed or written, bits of papers, pager,
mobile phone, electronic device or any other material
except the Admit Card inside the examination
hall/room.

1. i1 & Wi | A o % 30 TRGHE T § 9 Tl ®
T ¥ WE W & f0 AR (¢) S fuifa f5 m &
i 11 ( afirefe Themn) § 50 ags weA € e wdE
e 5w & fau = @) o7 § | gfes & wrt i 29
¥ faes Tt 70 o fruffa ¥ 1 97 w3 o6t when i
F T TE gET W W FH § | ToF W 7g Fwifa
31 W % TogE sifwa €1 s 19 v n § W
TTor I o foru =0 wee & forg fruifa e ofwl 0 1
ua-stens (Va) i o 90 & § we fag s afg
TR TR a1 g e T R, @ 3a
3 ¥ A R o T B W |

2. Yien i, IR OF TS QN Wi H S 73
i, Faifn Tt oft ufifenfa 9 (e ol qfae @
TR H % Fre P w1 feafy ) Srew) gl wan
T SUers TE HUE! ST |

3. THefdEl i SR uE | FE ot % 6 O foEs w1 wW
H &) At T &1 i o o T
Yfeaent  fruffes e =i fo o v & forg I g
Tt &, TR R SR 98 SR T g8 WA &
R e e S W 38 (Y825 - 27) WA TR B

4. Y9 M W ToE wenefl i #1 ow waa w1e
feamd |

5. aefters a1 Frders =t fadw srwfa & fam w0 odaned
S T 7 B | ‘

6. WOET wA® B3R W, qand fRta=l w1 o
Tforg - W 1 g ey THe - qFT I SRR 9H U
Ffvefa e 9T 1 %t gET vk 3 afi Suftafs w
T AT BEIER TEN T F YA & wWen 5| B
T 7 F 3 W98 A1 a5 30 0 v E wWe @
diterg 7 ¥ fo8 s v e S Ao H S S o
Titemell 397 ST B9 & S T Frema sufefa o
fu T T W arAva W | qenfa, wdaned ST
v we sl wer - o 1TE 0w S gRaE
AT EHS €

7. TR e Wi a1 g1 S (39
Thel, HME Tefe) 1 WM afdd §1

8. Titen wel § e & forg Wiene Sw A /a9E F
A fafrel g Frafi @ srfEg |nE @ F e
e &1 e 9.0 9. /88 ¥ Frawl we fafamt & ager
g

g, faeft oft fearfa & gdien gfem, IO o9 w@ RN e =
T8 oft w9 4 s fRn e e A @ e SEm
areyen femre SR

10. wen g, IR 79 T g7 wie & < g v g
Hem w1 vhenef 98w | wiet = F of ford

11. gitegreft T wdten /9 W vaw =g & faam
ferait werre @t wrgm W, Wt ar gwatelEm, Fs
=1 gfedat, Ue, WiEgd WA, JHEeie SUFT a7
et 3T THTT R AT 2T & S 91 ST w @
AT T &
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